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The children each started with 20 points. They lost a point each time they
missed a goal. How many points did each child finish with?
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Lisa missed 3 times. I:l d. Hari missed 16 times.|:|
Ben missed 13 times. I:l e. Phil missed 8 times. |:|
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Lisa ran 4 laps, then she ran |:| more.
Ben ran 5 laps, then he ran |:| more.

Aima ran 6 laps, then she ran |:| more.
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The children each ran 17 laps. How many laps did they run after the rest?
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Which pair of numbers add to make 15? | Which pair of numbers add to make 16?
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